
Решите ребус:



Тема урока: 
«Модуль числа»



Найди верные высказывания:
|-5|= 5 |20|=20 |40|=-45 |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<4 



|-5|= 5



Найди верные высказывания:
|-5|= 5 |20|=20 |40|=-45 |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<-4 



Найди верные высказывания:

К |20|=20 |40|=-45 |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<4 



|20|=20



Найди верные высказывания:

К |20|=20 |40|=-45 |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<4 



Найди верные высказывания:

К О |40|=-45 |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<4 



|40|= - 45



Найди верные высказывания:

К О |40|=-45 |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<4 



Найди верные высказывания:

К О |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<4 



|-185|= - 185



Найди верные высказывания:

К О |-185|=-185 |67|=67 -5>-2 0>-1 -3,2<4 



Найди верные высказывания:

К О |67|=67 -5>-2 0>-1 -3,2<4 



|67|= 67



Найди верные высказывания:

К О |67|=67 -5>-2 0>-1 -3,2<4 



Найди верные высказывания:

К О Т -5>-2 0>-1 -3,2<4 



-5>-2



Найди верные высказывания:

К О Т -5>-2 0>-1 -3,2<4 



Найди верные высказывания:

К О Т 0>-1 -3,2<4 



0>-1



Найди верные высказывания:

К О С 0>-1 -3,2<4 



Найди верные высказывания:

К О Т С -3,2<4 



-3,2 >4



Найди верные высказывания:

К О Т С -3,2<4 



Найди верные высказывания:

К О Т С
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